Concavity of functions Wqrksheet

. Find the interval(s) where g(x) is nei-

ther concave up nor down.

. Find the interval(s) where wu(x) =
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. Find the interval(s) where g(z) is con- 5% — 6x is concave up.
cave up.
7. Find the interval(s) where v(y) = In(y?)
. Find the interval(s) where g(z) is con- is concave up.
cave down.
' ‘ , 8. Find the interval(s) where f(z) = e!=*"
. Flnd'the interval(s) where g(z) is de- s concave dowrL
creasing & concave up.
. Find the interval(s) where g(z) is in- J: F1r31d thi .1nte1"val(s) where h(z) =
. 62° — 22" is concave up.
creasing & concave down.
10. Sketch f(x) satisfying:(i) f”(x) > 0 for

6 <z <9fx) <0for9<uz<12
and z < 3; f"(z) =0 for z > 12.

(i) f'(x) > 0for x <6 & =z > 12;
fl(x) <0for 6 <z <12
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